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PSAC ASSESSMENT REPORT 2021/2022
MODERN CHINESE
(SUBJECT CODE: P200)
INTRODUCTION
A 5% cohort of Grade 6 students sat for the Primary School Achievement Certificate (PSAC)
Examination in 2022, as part of the ongoing Nine-Year Continuous Basic Education (NYCBE)

reform.

The Modern Chinese assessment focuses on the following areas:
1. Reading Comprehension (40%)
2. Writing (30%)

3. Grammar and Vocabulary (30%)

These assessment objectives are in line with the goals and objectives of the National
Curriculum Framework (NCF) for Primary Education. A variety of tasks were set at different
levels to allow students from the whole spectrum of the ability range to demonstrate their

proficiency levels.

General Comments

50.2% of the candidates passed the examinations, among which 17.2% of the candidates got
grade A. Nevertheless, there were still 49.8% of the candidates who were unable to attain a
pass mark in the subject. Teachers should give greater consideration to this, and should

investigate its causes in order to improve pupils’ performance.

Specific Comments

Question 1A

The purpose of this question is to assess candidates’ knowledge of common vocabulary. It
relates to the labelling of 5 pictures and carries a total of 5 marks. Most candidates did not
perform well in this exercise. Many candidates were unable to write “¥&-F/#h4s” , “F/
H&/9” and “#-F” . Many candidates gave “%4 % ” as answer which is considered

to be too vague, obviously they did not score any mark. Some candidates wrote “X.” and

2/18



“5 )& ” which are wrong answers too. It can be said that basic vocabulary is not mastered

by a great number of candidates and more work should be done in this area.

Question 1B

The purpose of this question is to assess candidates’ reading comprehension ability at a
basic level. It is done through tasks which require candidates to match a sentence to the
corresponding picture. It carries 5 marks. Many candidates did very well here, with an

important number of the candidates scoring full marks.

Question 2A

A range of grammatical structures was tested through multiple-choice items in this question.
This year, the use of conjunction (i%17]), complement of result (Z5HE%ME) , measure
word reduplication (FE17]#ES) , adverb (EIiA) , aspect particle (31Z5B17]), opposites

(& i) , interrogative pronouns (%Ein]f%if]) , adjective reduplication (%% id] &
) ,theverbforms (ZJiF]) and nouns (41id]) were assessed.
On the whole, candidates performed poorly on this question, revealing pupils’ poor
knowledge of Chinese grammar. It consists of 10 multiple choice questions which carry 1
mark each.
The best-done items were:
ltem 1 &&— = 3] K3A R 4K
ltem 4 4848 F 893K F H K EKHAMRA F D,
ltem 7 db w69 X RARA, 12278 RARM.
ltem8 & =%: A4 LR LF?

I KA

The following items were found challenging:
ltem 2 G5 £5% L# B — /& . Many candidates still have difficulties to differentiate
the verbs followed by the complement “#]”,so they wrongly gave “91 ]”, “rZ #]” and “473

#]” as answer.
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ltem3 THFWEF, ZHELETFELRT.
Many candidates chose “2£”, “XJ&”and “# J&” as answer when the correct answer was
“#4F”. This means that the candidates do not know the meaning or the use of the adverb

llé% %”.

ltem 5 £ )fisk#& L3, Many candidates gave “7” and “i1” as answer. Many candidates
still cannot differentiate when to use “7T, &, i$”. The particle “T ”may be used after the
predicate verb to indicate the completion of an action, whereas the particle “if” is placed
immediately after the verb to indicate that verb was done or experienced in the past. Here

the correct answer is “&” as the particle “&” is used to indicate the continuous aspect.

ltem6 N F: ZB, HRMN—FKALETH AT
L. RMNFTARIF S,

Many candidates wrongly provided “#&{F, "8#%, A1F” as answers. It seems that

=gl

candidates did not know the meaning of “*t{%”. In fact, there were enough clues in the
item to help candidates. Should candidates read this question well, they would have

answered it correctly.

ltem 9 T FaY1E, ZTAVAF HFIZBEBEREN . Some candidates still have difficulties
with the use of reduplication of adjectives which indicates the state of degree is high. They
wrongly chose “iZ %" and “iZ % %" as answers. “iZ %" is the general form of the adjective
beautiful. Should it be the correct answer, before the adjective there should be words like
“f&, 3AE#”. The reduplication of two syllables adjectives “AB” should take the form of

N4 = "

“AABB” and are usually followed by “#9”, therefore “iZ 5= % i

and “iZ/Z %" are wrong.

ltem 10 2 )T A £ £ LM L5 F
Many candidates wrongly provided “#5£” and “£%£” as answer. It seems that candidates
do not know the meaning of “Z#&” or they do not understand the sentence itself, so they

chose the vocabulary word which they are most familiar with.
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Question 2B

For this task candidates were required to deal with vocabulary in context, through multiple-
choice items. Most candidates had problems in choosing the right answers, hence they
scored fewer marks.

The best done items were:

ltem 1 & & £ 85 2 /£ & F R

ltem 4 BAREGAFRIA T, HHBE - £,

The following items were found challenging:

ltem 2 &~ X KRB, KREFLRE

Many candidates wrongly gave “& JL” as answer. Most candidates had problems in
choosing the right answer. It seems that the candidates did not understand the meaning of
the sentence as well as the vocabulary “& ", “B&5”, “/#57K” and “$&%”. Teachers are
advised to practise more vocabulary related to action verbs.

ltem 3 F A K —EHF, KL —24)L, Many candidates had difficulty in choosing the
right answer. Instead of choosing “#73”, they chose “#5 £.”. Either the candidates did not
recognize and understand the meaning of “# 5", or they simply did not understand the
meaning of the given sentence. Teachers are advised to teach their students how to look up
for key words in the sentence. Here the measure word “4€”and the verb “#-” are key words
which are helpful to choose the right answer.

ltem5 KA THKBFHEL,

Many candidates gave “R-F, 5 M” as answer. Teachers are advised to teach and
consolidate basic vocabulary words with their students as the provided possible answers are

all common vocabulary words.

Question 3

Question 3 assesses candidates’ ability to read with understanding a text pitched at
intermediate level, and also be able to locate explicit information from the text. In general,
candidates performed rather satisfactorily. The passage set was about Ma Xiaoyun writng a
letter to her friend Shasha about her holidays in Hainan, China, and also to inform her friend
that she would be back to Mauritius on 14" July at 7pm, and lastly she would be back to

school on 16™ July. In this question, candidates were required to answer 10 questions of 1
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mark each. Marks were not awarded to the candidates who wrongly drew information from
the text and the candidates who gave more than one answer were also penalised.
The following items were found challenging for the candidates.
Item 5 5 509 IEE 247
The expected answer was: & @ B89 AEK KT o /iEE B 69 AARR M,

Many candidates wrongly gave “12 & AR R &3k & B 69 A&, 7.

Item6 5 4= EEH LHBAGAGE,
The expected answers were:
(i) arik
(i) &%
Some candidates wrongly provided “BEH A€ 2 —AMRIZZA DS, 7 and “BH A K #*
T . ”as answers. It seems that the students did not understand the meaning of “f# 9 # 1
%”, therefore they just followed the structure of the question in the text to give their

answers.

Item 9 &= JLA JL5 & 2| A ?

The expected answer was: £/ +5<H, or £ t7555,
Many students gave “t H + @ H” or “t£ A +W” as answer which is wrong as it is the
date Ma Xiaoyun would be back from Mauritius. Some candidates even provided “ #1112 it
& L. ”as answer, they did not score any mark. If the candidates read the short text

carefully, they could have scored marks.

Question 4

Question 4 was split into two parts: 4A and 4B.

This type of comprehension passage is of higher order compared to that of Question 3.
Candidates’ ability in reading comprehension was assessed through their understanding of
the extended passage. The narrative passage set was about a girl called Liu Fang who came
back on holidays from Rodrigues with her family. Upon reaching home, dad decided to cook
the dinner. Unexpectedly when the family got into the house, there was a bad smell. The

bad smell came out from the kitchen’s refrigerator. Dad found out that there was a power
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cut in the house a few days back and all the food stored in the refrigerator had gone bad.

Finally, dad threw away all the rotten food and cleaned up the refrigerator.

Very few candidates demonstrated excellent understanding of the passage and scored full

marks in question 4. Weaker ones had problems in reading with understanding, so they

scored very few marks.

Question 4A

Question 4A assesses candidates’ ability to locate explicit information from the passage
through multiple-choice items. It consists of 5 multiple choice questions, carrying 1 mark
each.

Some candidates did not understand the questions; hence they could not score maximum
marks.

The best-done items were:

Item 1 3| 5 A RAHF X —AZH.

Item 4 W55 AT FF ok fa 09 iHAE, RNAREEET.

Item5 R XL RE, EEMTHRUER,

The following items were found challenging:

ltem 2 X5 k4R, Some candidates wrongly gave “ @ &./% & ” as answer as they
did not read carefully or they simply did not understand the story. May be they chose “ &
#./%%&” because they saw these words in the text and they did not understand the word

“CHER

Item 3 2% ZME B %48 . Some candidates wrongly provided “ & ” or “7£ & ” as
answer. It seems that candidates failed to understand the story and they picked up an
answer at random since these two vocabulary words also appeared in the text. Hence, they

could not score good marks.

Question 4B

Question 4B assesses candidates’ ability in reading comprehension. This extended reading

comprehension task goes beyond literal understanding of a text and a range of reading
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comprehension skills are assessed. Candidates were required to identify central themes and
ideas, infer the meaning of unfamiliar words, locate explicit information and provide a
personal response to the text. This question carries 10 marks. Many candidates lost marks in
the last item question number 7 where candidates had to label the sentences based on the
chronological order of the story. Also, there was a considerable number of candidates who
left this question unanswered.

The following items were found challenging by candidates.

Item 1 X 55 A= KA Z T R)L?

The expected answerwas: ¥ . /# . /X FFEAELT T H,

Some candidates answered by “X| 5 fe K AR B T K, /1L T B %o ”. These answers
are wrong. It is advised to inform candidates that questions are being asked based on the
order of events in storyline, i.e., answer for item 1 is usually found before the answer for

item 2.

Item 2 ERILIR ?
The expected answer was: & &. /X F. [&EMILIR,
Many candidates provided “#54%” as answer. We believe that the candidates answered

wrongly because they did not really understand the story and answered the question based

on their personal experience as in many cases it is mum who prepares the meal at home.

ltem4 A ZAKEE@G R BAIRT ?
The expected answer was: 1%, /X Zie®, /AHAJLRATKELI1Zw,
This question was rather challenging for the candidates. Some candidates answered by “

AEXRKT . kiaE @Ik, 7 hence they could not score any mark for this question.

Item 7 3% BBHCFE M 7 09 K EHEFDR A
15T hk. 4

2. EERAFMETHT. 5

3. B ATIF T kAE. 2

4t AR T 1

5. X FER—ANABEK, 3
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The expected answers are as shown above.

Candidates provided all kinds of wrong answers as they did not understand the meaning of
the story, for example #filA# EF. ; XNFTH L., ; EERKBETET. ; %
FER—ANABE, ; WIBITF T kF . , and common answers which were provided and
were partly correct are: #fil A3 BT WBITF Tk4h. ; MNFHRTHE. ; ANFE
R—ANBE, ; EEKkHEF % T. , here we believe that these candidates were

rather careless, as without knowing the egg was rotten how come Liu Fang would run away.

Question 5

Question 5 was split into two parts: 5A and 5B.

This question evaluated candidates’ knowledge of grammar in writing at sentence level.

Question 5A

In this question, the candidates required knowledge of syntax in writing the sentences
through re-arranging jumbled words. It is to be noted that the candidates had to answer
correctly to score 2 marks in each item. If for one item, candidates got the answer partially
correct, no marks were allocated. Teachers are advised to practise more exercises related to
jumbled sentences to improve students’ skill of writing sentence.
(=) x5, FFey, +A. £8., £

The expected answer was either “T AT RFFHAEH, "or “SFHF94A B RZ2+T A
%,
Many candidates wrong answers such as “F 5895 4A B2+ H, /AR <FT £+
Ao /TAAHHHALER, /FHH0ZTAN54EH. " It seems that some students
mixed “&” and “7T”, for example “T A &5 #5694 B, ”. It is recommended that
teachers emphasize how the date is expressed in Chinese language in class, for example by

writing the date on whiteboard every time there is Chinese class.

(=) A, BHE, L. #FF. EA
The expected answer was: 7 ¥] =% 5 HE A A7

This item was found challenging by candidates as two verbs were provided.
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Some candidates wrongly wrote “iF %] X% 5B A EA? /E A LR HHEAFE? /FRE
2 & F£9% 5 #? ” amongst others.

The most common wrong answer was “i 7] %% 5 # & & 2 ? ”, where the candidates failed
to put the verb “;£” after the interrogative pronoun “& 4”. It seems that the candidates are
very familiar with verbs followed by nouns, that is why they put the interrogative pronoun “/&

2" after the verb “&”.

Question 5B

As for question 5B, the candidates had to complete the given sentences. This question also
assessed candidates’ writing at the sentence level. Knowledge of syntax was assessed
through the sentence completion task. This question carries 6 marks. It is advisable that
teachers practice more this kind of exercise in class.

Item 1 is to assess if the candidates could understand the meaning of “ X A, X # T ” which
was given in the first part of the sentence. Some candidates did not understand the
meaning of the provided part therefore they either provided a wrong answer, for example
“4 H” or left this item blank. Some candidates provided answers which contain syntax
and/or vocabulary issues, for example “X A K# T, K he T Z K, ”.

Some good answers given by candidates: “& 8 £ #HA . ” or “KHEFEIFK. 7 or even “k

& %K, ”.

Item 2 assessed whether candidates could understand the meaning of “------8984%” to
complete the sentence. Some candidates did not understand the meaning of the given
phrase; therefore, they were unable to complete the sentence. Examples of wrong answers
written by candidates are given below.

LaReEAR, RAARE K.

LaRagaHE, KA.

LRy EE, ROMAXAEKT .

LR&G AR, RMEHE

LaRagEE, ZIFLERMEG KT
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Item 3 assessed candidates using the conjunction word “[E #” to provide a reason. The
first part of the sentence is given. Some candidates gave the following wrong answers:
ERKRAAEFR, RARZERT

PERKRA LFR, BAXTRIT.

MERBRAEFR, BAKMNEEL,

ERKAA EFR, BRALEERS TS,

PERBRAEFR, BAFRLZRNGED,

A few examples of good answers written by candidates are “Bf X & XA 54, HHA K
wTe 7, “BERKEAEFK, BAKXTEIR, ” amongst others.

Question 6
The cloze-test is a higher order reading task assessing the use of language which requires
the ability to rely on the context to guess the suitable word for filling the blanks. It aimed at
assessing the candidates’ ability to read with understanding. Candidates had to fill in the
blanks with appropriate words from the list of words given. This question carries 10 marks.
This year, the passage set was based on the following story: “One evening, Lili and his family
decided to have dinner in their garden. Since Lili was scared of the dark and dad lit up
candles. Lili usually watches TV at night, but that night dad told Lili a beautiful story. The
family sang and danced in the garden, and also had dinner together. They enjoyed good
moments till it was time for bed.”
Many candidates lost marks because they could not fill in the words: “ZEH” . “&
70 “RE” L “HXT L “RE. “—A&” and “ARAN” in the appropriate blanks.
28 L

Some candidates could not recognise the word “"§9X” or did not understand the meaning

of “ X eeeees X oeeeee ” which means “both do A and do B”.

Question 7A

This question assessed candidates’ ability to deal with spelling in context. Five short
sentences containing spelling mistakes were set and candidates were required to correct
these mistakes. Some candidates had problems in writing the right Chinese characters,
hence they lost marks. This question carries 5 marks. Very few candidates managed to score

full marks in this question.
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The best-done items were:
Item 1 b3 (&) RARLIGIGITE E,
Item 5 4 R4&35 &k £ 2 KA, LR FEHGER () .

The following items were found challenging:

ltem24848f (§F) 24 E5— A+,

Item3 FFANAZEK (K) TGRS,

A considerable number of candidates did not understand the meaning of the sentences at
all thus they could not write the correct answers.

Item 4  F #5285 K —F (#) 44, Here the candidates were expected to write the
measure word for gift/present. It seems that candidates are not familiar with measure

words or did not simply understand the meaning of “4L4%”.

Question 7B

This question assessed candidates’ ability to write the appropriate Chinese character
according to the provided Chinese Pinyin in the given context. This question carries 5 marks.
21 candidates demonstrated excellent understanding of the sentences. 29.3% of the
candidates got 3 to 5 items correct.

The well-done items were:

ltem 1 ZFMAERTAT (jié) .

Item 2 JRIRIEF LT EE, B—TF (xia) T47.

Item 4 #) ¥ 09 % 3F (hao) RIHEIK,

The following items were found challenging:

Iltem 3 RAVAF &I ® (dian) A4 % . Some candidates could not differentiate
between “&”,“X” and “®.”, and wrongly gave “&”or “X” as answer, hence they lost
marks.

Iltem 5 BB E T —4%HB P (jin) . Many candidates either did not understand the

meaning of the sentence or could not recall how to write word “scarf” in Chinese language.
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3790

Finally they answered wrongly by writing “4~” or “£i”. There were also some candidates

who left this item unanswered.

Question 8

This question assesses candidates’ ability to write grammatically correct and meaningful
sentences based on pictures and five given pairs of words. The different sentences should
be linked together with the given words to make up a coherent short story. This question
carries 10 marks.
A number of issues were noted:

* In some cases, candidates wrote sentences by adding only a subject and a noun.

* A considerable candidates did not know how to use the given pair of words in item 2

“H R-——%K” anditem 5 “fk#———#" | therefore they were unable to write
a correct sentence.
» Some candidates could not use the verbs “#¥” and “J&” properly.
* Many candidates did not use punctuation. For example, they did not put any full

stop at the end of the sentence.

For many candidates this item was quite challenging. It was partly answered, eventually

candidates lost some marks. For example, the following mistakes were noted:
—R&AF

— R LA

— R X 5 AP

—RBICHE LA

—REEM R,

—REMEEMN T —/M s

Candidates who scored full marks for this item wrote simple sentences such as:
—REREANBIMNTT —RHHE,

—X, EEALEZMH R,
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tem2 HX ——— K

This item seemed challenging for many candidates as they wrote sentences which contained

grammatical issues:

EEHEREKM,

#X, EEXKIH,

H R A KA A

H R A7 K H

Candidates produced simple sentences such as:
EEERENK

#R, HEKo

HX, WLiEK,

ltem3 JLFE —— xF

This item posed difficulty to some candidates as they did not understand the meaning of
“XF” hence they could not write good sentences and lost marks. Some candidates
produced good sentences such as:

LG, WA RT,

JLFJE, ARSRT ML,

There were also many sentences containing syntax errors, for example:

—FEE —AKRT

JLF B 8RR T

HILFJE R T o

JLFBEHRT .

This item posed some difficulty to candidates. They had to struggle to find the right
vocabulary to write grammatically correct sentences. Some candidates produced good

sentences such as:

HE, HEILT 2L RM

A, DT REAARS

A ERAMILT ZRAL KX L IRAM,
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There were also many sentences containing syntax errors:
HAMA B R,

A ARE R

AR, EZRAKE,

AT SRKE,

4538 Fe F 5 R B R R T

Item5 fR#H —— e

This item also posed some difficulty to many candidates. They had to struggle to find the
right vocabulary words to write grammatically correct sentences. Good sentences produced
by candidates were:

RAMRE, A2 AT R E

B A RARM, PTABRM L AR T KR,

B RGEHRAR M, 22 L EMTHIKT

In some cases, candidates did not use “fk#” properly, they produced wrong sentences
such as:

AR 2R KT A

AR A AT A AR

AR AR o

—RA BB EALTH,

ARG R, PTARAVE T 2 6B & Aevg 2

Question 9

This question tests the ability of candidates to write a coherent piece of continuous prose of
about 100 words based on a given canvas. It assesses higher order writing skills, especially,
candidates’ ability to develop a given storyline creatively and coherently, use accurate
grammar to express themselves, their ability to use varied sentence structures and the

richness and appropriateness of the vocabulary used. This question carries 10 marks.

The following prompts had been given to guide the candidates:
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. AAALAH-HT

y ETHLAET?

. 1R AR 69 IR A A BT A

. RN ZE 2158972

. e & AR

Performance on this question was, on the whole, below expectations. Some candidates

indeed produced good pieces of writing in a satisfactory way. However, a good number of
below average candidates did not attempt this question and did not score any mark and the
majority of their compositions were full of grammatical errors. Inappropriate use of case-
endings, wrong words, inappropriate verb-tense usage and wrong syntax were noted. This
showed that candidates had not mastered the skills for writing an essay.

The following sample of compositions is an illustration of the strengths and weaknesses

encountered by candidates.

Composition1 (9—10 %*)

AAERFF+Zm, REHRZT, AAFERTOWIEHETHE, ARG
kR ERI U5 E, RAA LBBK, UL ESEIHE. &K, ANART —
NEAEKEL, WFEEH RN NAELITFHROIFI. FHZX, KA DR E
H, mATmEZE AN, RA—2IL, KHBETEIFHLIL, R ETHIAF, RKRAEF
BT ALER KB NE. FIARMNEG EEFRFRK. RKITEE, ARLITA. BAR
ANEIZ, IR K—TFFHRECEIAET . SRMT —HFF, KRkF%!

This composition is a good piece of work. The candidate made a noticeable attempt to
develop the storyline. The grammar and overall Chinese expression are good. The
vocabulary is wide and precise. The sentence structures are varied. This demonstrates the

candidate’s skill to use different lengths and types of sentences for particular effects.
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Composition 2 (7—8 43)

ENZH—EFHE, SMEHTE LR, RR, —NMHRAAXHKTEZ, ETHIT
) F o

BABRGNAE BT AN B G ENRKA —NFRAEHERLITHFA, 5 Lird
HHERE, RA—2I)l, ERERT . BF, RNTINTFALTERE. RE, RATE
JPdbhg F A, MATHHL:  CHPAR. T AL R A, 7

MR, RATSEARKT —HFF,

This composition is relevant to the theme set in the examination paper. The writer has
described while he was in the classroom, he saw a thief stealing the teacher’s mobile phone.
He was able to narrate what he did to get thief arrested. Sentences show some variation in
length and style, including the confident use of good vocabulary words “& &, ™, £ 5,

~—4)L” and “5x &”. However, a few errors were noticeable.

Composition 3 (5—6 %)

—R, BRALEFREIRZGNA LN, KMNRAEKTEIR, HEIWELTALRG
TO

RABE—NRETREKEL, EATRMNETFORD ! KR A 244 0% 1b AT
AT o BARZRA, ZAMNAZLHINER. FIARMET HAAE, LT RAE —NDIRASE
AZIFEFR TG,

LTANRE, DBaEARIINART, NERNTEZTHEBITT €iE. GED
B IANE, —RaiTied).

From this composition, we can see that the candidate made a noticeable attempt to
develop the storyline. The story is organised and contains enough relevant details. A variety
of simple and complex sentences were used. However, some grammatical and spelling

mistakes were identified.

Composition 4 (3—4 43)

— R, MFRAARKE, ET —AKFEPH. KRG ITFMAEETHRA. REN
JLEAKREDBRETF. RETETANKFH, BAFRALZTIRE, KAAFN AR R
EH, BMNOEKXEFLXAKEBZIT, ZIFH: RN 7 RAIFI0 AR E 3%,
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This composition is incomplete. In fact, the story is a basic one with little development. It
contains many grammatical mistakes. The sentence structures are very simple and lack

fluency.

Composition 5 (1—2 43+)

SRBAEHEN, BIFMNEKETR., BIFMNESS, =N AEBEG . LR ATEK
¥, RETTFEKREREZTFTMNARBIEG, HEFEE, KMNERFXMNEZHS,

This composition can be categorised as very basic story with very little development. The
vocabulary used is simple and inaccurate. Many grammatical mistakes have been noticed

throughout the story. A few sentences are meaningless.

Recommendations:

The following recommendations can improve the teaching of Modern Chinese as a foreign
language to Mauritian students in primary schools:

1.Teachers should create a better learning environment in classrooms by making use of
blended-learning methodology and interactive strategies.

2.The use of other languages like English, French and Creole should be avoided as far as
possible while teaching Chinese.

3.More emphasis should be laid on vocabulary, grammar, and their application in sentence
writing.

4 .Students should be motivated to develop their listening and speaking skills by

communicating in Chinese language as much as possible.

Conclusion

Most of the candidates did not have a basic knowledge of the Chinese Language. With
regards to this, teachers should make an investigation into its causes in order to adopt
proper teaching and learning methods. This is the only way to enhance pupils’ interest and

improve performance.
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